< & ¢@>(rad)

3
TP n (PCA to beamline)

< dcot(B) >
o
e
[¢)] N

o©

2

3

TP n (PCA to beamline)

ggn..n{vmu. +op0evt
egé %ﬁéﬁ‘ﬁ 1RO TLIERS 1000evt

< 0dy > (Um)

. ml;{

................................................

................................................

Ratio

< opJp, > (%)
w

2 3
TP n (PCA to beamline)

— 10
80
60

< 8d,>(um

40

............................................

............................................

............................................

1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


